Chapter 3.1-3.3 Practice

Test

Trigonometry | Mr. Cooper

Name
Date
Period

Grade

This portion of the test is to be completed without a calculator.

For the following, give the gxa@t value of the following in simplest radical form.
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PART B Calculator OKAY

Ture or False.

27) Tangent is an even function. Fﬂ [%

28) An odd function is defined as f(—x) = f{x). _ Fa[

29) An even function is define as f{x) == f(--x)._ TVM
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Fill in the blank.

21) The number of radians in two revolutions is L(L'IT

32) The tangent and cosine functions are both negative in the H quadrant.
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36) Convert —160° to radians
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29) Convert 720° to radians.
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Use a calculator to find 0 if 0 is between 0-and 360°a)d..
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